= AH O
N = 0 &8 AF S & Al A
20108 = Z0lAt SIS AISEESIH JA
A Sh=1
= ol=E L Xot=2el
SRl Sl=Xel QIR E (ol AR S EEAH) (&2 &)
- _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
of =1t 21,797,740 20,610,592 1,187,148
ot=& & Xotz=2te 8,307,899 16,420,592 N8,112,693
ot=xel olE2tR=E (St At S H) 434,000 2,635,400 A2,201,400
BHHIIZAE FE FAUXS A (&) 434,000 2,635,400 A2,201,400
402 BI2HXHEOIA 434,000 2,435,400 A2,001,400
01 QIIXtEE X 434,000 2,435,400 2,001,400
OXN&EH BEe| SHIZAE FH FXIA
H(SASHEED L 0123 2)
434,000,000 « 1Al 434,000
of=2tH X (5t A SESIA) 6,964,499 13,241,353 NB,276,854
AMUBHSR SXES 402,880 603,780 200,900
401 AlA&HI L 20| 402,880 603,780 200,900
01 Al&HI 400,000 600,000 200,000
OALHBF=ZH JHA (1.0km)
150,000,000 14! 150,000
OAlILHBE=2H =4 (20.0km)
250,000,000 » 14! 250,000
03 AIEE20i4I 2,880 3,780 A900
OAlE 24| 400,000,000 *0.72/100 2,880
ol g1t (oF==2t) 6,556,619 12,086,673 A5,530,054
801 olibldl 6,556,619 12,086,673 5,530,054
01 oflglyl 6,556,619 12,086,673 5,530,054
ooyl gl 6,556,619,000 14! 6,556,619
T INE= 5,000 0 5,000
305 HlaZ2S 5,000 0 5,000
01 HHaZ2S 5,000 0 5,000
Ozt &3 5,000,000 14! 5,000
Kotkteal EF (ot AIESEE I H) 909,400 543,839 365,561
Xl ot==22l 909,400 543,839 365,561
101 ol 24H| 75,090 73,050 2,040
04 JIZHHIZ22SE S 75,090 73,050 2,040
OXot=AlE O|SEEE2 Z2& L SHEXZA 75,090
IRr= 42,6002 x301 %240 30,672
DEESY 42,6002 %301 x522 6,646
A= 30,672,000 x4/ 12€ 10,224
DI 42,6002 x301x 152 1,917
DAMTHEE Z
1,381,000& *321%4.248/100%12& 2,112
>DINESE =
1,381,000 %3021 %1.75/100% 122 871




S Bt
Mo olhE U XoiaRel
¢hel: XIGHHE 22X (ot ALSE3IAH) (H:H2)
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
SENFEEEE
1,381,000& *321%4.5/100«12& 2,238
DAHAAEBE =
1,381,000 3212 54/100*12& 1,263
PEIRYEE= 1,262,784 x4.78/100 61
SESE= 1,381,000 #3212 8,286
>Xot==0883 d& Wl
300,000& x321x12& 10,800
201 LEt243| 16,510 22,300 A5,790
01 AtE222|H] 9,260 9,100 160
O1 et=ZH| 8,420
DEMLADE(EY L EHE)
300,000& x12& 3,600
> Xot==0IERE3 LDAM HE
603 *12,0000H 720
DXot=0lEREIHMEDINAM HE
602 *10,0000H 600
DEST &l Z=z18 72 3,500,000 *14] 3,500
O3 2g9=¢ 840
> Xot2e/es /AR E82
0,000& x621x23] 840
02 23234l 7,250 13,200 A5,950
O1 82322 ¢ MA 7,250
>RSI 0l8BRY2 DXA EE5S 2BR22
250 *40001 x12& 1,200
>Xot=0l88E2 DXAN SIRE=2 ¢
bts= 1,750 *2000H 350
>et=4 . ot=S & 3l 5,700,000 *14] 5,700
202 4| 10,800 10,800 0
01 =LA b 10,800 10,800 0
OJ|gge+=adul 100, 0003 *32! 12 3,600
OXot= &2 &el 2 Xot= 2 &
300,000& x221x12& 7,200
207 A0 E | 427,000 407,689 19,311
01 ARESH| 427,000 407,689 19,311
OXGt0ISAEHEAIESD 57,0002 *7,00004 2 399,000
Odt+=EAEZ MEEY 28,000,000 * 14 28,000
401 AIEHIZ 2O 380,000 30,000 350,000
01 Al&HI 380,000 30,000 350,000
020D Ns+HBAN=T
1,000, 0003 *30H & 30,000
OEXXots s X
50,000,000& *7H 2 350,000
L& s (ot+0t) 13,120,045 4,190,000 8,930,045




SN BT
HH: YRS (54D
ool LIRS (514 E ALY

Sg3H) (CH9 &M
_ _ _ PSIEl
A -3 -H2A(SH) - HEAMY - BES Ol AFoH Ol & o8 Blns2
HEHHX S (ot AIS SESIH) 12,820,045 4,190,000 8,630,045
LHEHHKIE 12,820,045 4,190,000 8,630,045
404 SIS N=2NES 300,000 300,000 0
01 SIIESLEIAHN=2HEZ 300,000 300,000 0
Oa=EEE3H ME= 300,000
DEIAT XS SABE +EES 248
300,000,000 * 14 300,000
701 JIEtSHEES 12,520,045 3,890,000 8,630,045
01 JIEt HEEZ2 12,520,045 3,890,000 8,630,045
Ot H &3 300,000
PALE @ A47 @lee
300,000,000 * 14! 300,000
O==ZHEEE2H MNE= 12,220,045
DEZIZAE2GH| (6l , 25, 2120t
s) 3,136,895,000& x 14! 3,136,895
DEZIZAE 8X(S306t+ . AF256+5.
St=2AAHE) 9,083, 150, 000& * 14 9,083,150
BN E (oI AIESEZAH) 300,000 0 300,000
Nisel=gslss 300,000 0 300,000
802 Btat=2JIEt 300,000 0 300,000
03 nedas 300,000 0 300,000
ORI FEZ etz (234t &)
300,000,000 =14 300,000
MY 2G| (ot+=1t) 369,796 0 369,796
=Y (B AR S5 369,796 0 369,796
Jl2Z | 369,796 0 369,796
405 KH&HFESHI 369,796 0 369,796
01 A& E2BFHSHI 369,796 0 369,796
OLlZ2 Xt 500,000 =14 500
O Xt 280, 000& *26H 7,280
OF-F~; 230,000 =274 6,210
OB XA 188,000& *25J4 4,700
O0l=sME 99, 000& *27 4 2,673
O0lsHbI 4 185,500& *257H 4,638
OFggdol= 272,000& »2IH 544
OXME 230, 000& *4H 920
O2+8+0l 200,000 =261 5,200
OMBIS (M) 300,000 =14 300
ORE(4218) 250,000 =1 250
OHIOI= ol &t 85,0003 x84 680
OozHg 530, 000& *2IH 1,060




M B4
M s A (o141
¢el: D22l (ot MY SEB3IH)
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
(@OE=R=1 970, 000& 104 9,700
Ozx=2z2e 695,600 * 14 696
OB CeHHHIL (S TH) 321,000 104 321
Oolel JITH 150,000& *1H 150
ORIAQl oI Tt 400,000& *24 800
O—EEX 111,500& 24 223
(OFSESN 330, 2003 14 331
OEXtE okt 85,0003 » 1204 1,020
OsAHa ZAXt 200, 000& *30H4 600
OZEIIAIZCHEDHTI(GC/mass)-2 LS 2
A, A4S 242 2A(CE2AFY D)
210,000,000 = 1CH 210,000
ODMESHY &2+ 4,000,000 = 1CH 4,000
OS2 ESEHANS AN MEU(SLAEN
el 765) 99,000,000& =14 99,000
O=FSHEMUSE Z2HIA Al HEE2E

4,000, 000& *2CH 8,000




